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BENI SUEF UNIVERSITY Flectrical Departments
Faculty Of Industrial Education Time: 180 min
Subject: Electrical Applications Spec.: 2™ Prod& Fine mech.

Date: 19 Fune 20310
QUESTIONS FOR THE FINAL, %‘:9
Ls

e 5SS aldgalas . TGS L, ASs A
[ Attempt® all questions No. Of questions: S No- Of pages~ Max Mark= 70 ]
1) For the circuit shown in fig.1 Find:
a. Equivalent resistance seen by the 1S58 V source
b. All currents ( 1,1,,1,,.I3)
c. The voltage and power dissipated in R3

X,
201K
13 —+ —+- IO
100V b -
20 €2 302 602 — .
150V R3 . . VO
) 30K <2 ) 2
->
Ficure 1 Figare 2

2) Comnsider the circuit shovwn in fig.2.
¥ Find the no-lead vaiue of Vg ( Ry= o0 )

) Find Vi when Ry, is 420 k€2

‘d

[0
[0

#ii) How much power is dissipated in the 20 k&2 resistor, if the
lecad terminals are short-circuited ( Ry = 0)

3)a. Find, applying the superposition principle the cuirents in all branches of
the circuit shown in fig. 3a.Find the voltage drop on R,.

B | 3 13 j 9
Ry 0L R 3302 R 1A
302
§ DD TS5V

Figure (3a)

Fig.3b
b. Find i and Reg, if V,;, = 80 V in the circuit of figure 3b

P.T.O -
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The sectional
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Enter all dimensions on your
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The elevation and end elevation of a machine part are shown. Praw, full size the
followingz: -
¥. The given end elevation.
2. The plan.
3.

The sectional elevation on A-A.
4.

Enter all dimensions onm your drawings.
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Theory of Metal Cutting
Industrial Education College 279 yYear Prod. Tech. : “ime:3 hour
Production technology department Dr: Walid Shewakh
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BENI SUEF UNIVERSITY
Faculty Of Industrial Education
Subject: Electrical Applications

EFlectrical DPepartiments
Time: 180 min
Spec.: 2" Prod& Fine mech.

Date: 19 Fune 2010
QUESTIONS FOR THE FINAIL. EX AM
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[ Attempt all gquestions No. OFf guestions: S No. Of pages: 2 1 Max Mark= 70

1) For the circuit showmn in fig.1 Find:

a. Equivalent resistance seen by the 150 V source

b. All currents ( 1,1,;,1,,13)
c. The voltage and power dissipated in R
T'—
20KC2 . '
—+ +- Xo
-
20 302 so 100vC D

IS0V Vo

o 30K<2 Ry,

Ficure 1

2) Consider the circuit shown in fig.2

i) Find the no-lead valiue of Vg ( IRy = oo )
ii) Find Vi when Ry, is 420 k<2
#ii)

How much power is dissipated in the 20 k&2 resistor, if the
lecad terminals are short-circuited ( Ry = Q)

3)a. Find, applying the superposition principle the cuirents in all branches of
the circuit shown in fig- 3a Find the voltage drop on R,.

=) i = xXx
11 12 I3v o 14 - 3
. Reau
r, GO<2 = 302 Rs 1A P
302
E> TSV
o
<2

Figure (3a) Fig.3b 20 2

b. Find i and R .4, if V,;, = 80 V in the circuit of figure 3b

r. r.o e
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Bovrei—-ssedf erspiversity SeCortd Year firsi Ferire eXCarre.
Freibduestyid Fadreceariiors Facedry Advarnced N ok esrraiics
Boasic Scierce Fregprarimeerzyd Fearr ey 20F8 Firre wllowed tlires Hossrs

Aresroer wli thie followirng qiesestiorns

F)Firnnd e arew of rfee poarallelograr: ihrad has ¢Hre vectors

g={(2, ~¥, &) & w= i +2j as two adjacern? sides thern firtd w the reormeal
VECior (o Dol 1o arnd v and calculate the volume of thre parallelepiped Frazvivagy
& . ¥ aeridd 2w s adjacer:t edoes .

B { 20 ppoirrs)
2D Firnd a Sei of pararetric equations wrd Symimretric eqiiarions of the fine
pusses erowge the point (-3,5,4) and is parallel to the iine giver: Hy:

x> — 7 v+ 7

3 5 z =
( 7€ poirsys)
3} iz 3P descridve arvid skesrch the graphz of
i} Fxtrgpt-Dr==F2 i i 3‘x i—4y =§ 2
§é By pr==_ zv) XAzt =2

{ 20 poirnes)

) dvz S-4P describe ard sketch the graph of ecach of the jollowing and descrilbe
e Frace of each ¥ XE—-playrees
P) xRy A == 2 if) X -dz+3y° - 2xc-d =1 2-Ey

¢ YO poiriés)

Srhrn 3-I» describe and sketch Jiooy)=— x"+8y ard Tind the directior: derivarive
Gf FOGY) @t (7,0) in the direction of v=—=3i-4f
( 1€ poirazs)

G) For the curve represenied by r(e) =3¢ i —i-thj FErndd:
£p #hee par2i¥ Farsgert? vector ot =7
i) the prirecipal rrrir rnorrmal vecror ar —2

iEi) the cuervarure and thre value of ifte radisus of cirvariere af =3
( 20 proizezs)

7)) oy the h yperbol@zd sSurface givert by ihre quadraric eqgieatior;
zZ =22 ——2y° =12 find the Cquatiore of the tangent plane arnd the rnormaal
Eivpe at e poivedy (¥, ~F , A )
¢ O poirers)

HRest wishres Py, AF. SHcficitez
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End of 1 Texrm Exam — January 2009/201 0
English, 2"¢ year

]

Read the following passage and then answer the
questions below:

T

¢

Civii engineering is a professi
with the desigmn,

onal engineering discipline that deals
construction and maintenance of the physical and
naturally built environment, inc

canals,

T

luding works such as bridges, roads,
dams and buildings. Civil engineering is the oldest
engineering discipline after military engineering, and it was defined
to distinguish nonmilitary engineering from military engin
is traditionally broken into

i

cering. It
including
municipal or
and construction

several sub-disciplines
environmental engineering, geotechnical engineering.,

urban engineering, coastal engineering, surveying,
engineering.

T

T

1- What does civil engineering deal with? rr:{
2_ Whatsis civil engineering called so? i
3. Whist are the branches of civil engineering’? F
4- What is the opposite of Civil Engineering? i
5. Summarize thhe passage to three sentences. F
—
‘.
~
—
',
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Beni-Sueif University Second year exam.
Tndustrial Education Faculty Advanced Math. (2"-term)
Basic Science Department Time: 3 hours
TJune 2010
Answer the following gquestions

Q.1-a) Find dy for the following functions:

(&2a1) »y = (sinh x)™"~

(az) y =

sinh 7 x = In(x + ~/x? + 1), then find

(e3x o e~3_r.‘ )2

Q.1-b) Prove that

a
L (sinh ™!
- (sin x)

Q.2-a) Use integration by parts to compute fsin"xdx then evaluate
f’sinz xcos” xdx

Q.2-b) compute the following integrals:
j- 31nh ~f x l J‘

Q.3) Find the following Lapiace transforms:

i) £{3e * cosszr }

X e anad o=
va — x*

> dx
(x —1(x" —4)

i) Lisin2r+2%e> 3}

i) L{te"z‘ sinh 27 }
Q.4) Find the general solut

on of the following differential equations
@) y + ytanx =

S=2C X + COS X

b) v —fx? — ¥y?ddx — xdy = O
c) yv' -3y '+ 2y = 2x
d)

1dx + Pn(x — 15 + 23y kly = O
x —

Q.5) Find the following inverse l_aptace transforms:

i rdi2s—°

2375 iy 2 {(3_2) Wy 74 S

\s?‘ + 45 +—5—/

Gooct Leeck
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Beni-Suef University
EIndustrial Education Collage
Ciaivil Eng .Department

Structures 1Second Caivil Year

Final Exam 2009-2010
Taiamme Allowed 3 :hours

OQuestion Nol.

Drxraw the N.F ,.S.F .and BMDs .for the beam shovwmn in Fig)1.(
1 t/m’ ot
2t
6.0m 1 m
Fig. (1)
Question No.2

Draw the N.I'., S.F. and BMDs. for the beam shovwn in Fig. (2)

4t
2 t/mm'
1 /'
o l o
| !
i

|l 2.0 o | 4.0 m 4.0 m 1.5 m |

Fig. (2)

Question No.3

Find the forces in the marked members of the truss shovwn in Fig. (3)

2t 4t 4 t 4 t 2t

4)m

4.0 4.0 m
Fig. (3)

Page Nol. rr . Arrrr Bakr Saddek
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Se—— > Subject : Fivdraulic

Beni Suef Liniversity < \ — ra =
Industrial Education College 2 rd. Year Civil Engineerin
Time : 3 Hrs. s AilS LS.l g 3¢
Final Term Fxam. 2009 — 210 Yo ¥ s = X2 oY ) 5N ST Aig S

Adtermapt all gquestions

1. a) Explain the differcnces between Liquids and Gases.

1. b) Define the following terms and indicate their dimensions using the NMLLT systern of dimensions and o1V

thzir typical S. T units:
- Pressure. P - Mass Density, o - Specific Weight, ~
- Specific Gravity. s - Specific PDonsity. p. - Dynamic YVWiscosity.,

- Shear Stress. © - Encrgy - Dischargse

1. <) Define the Pressure head (h) and what is the unit of it.

2.
between dynamic viscosity and kinematic viscosity.

2. b) As shown in Figure (1) the space between two fixed plates is 20 numn. The space is filled with oil ha:
dynamic viscosity of 0.958 Pa.sec. Find the required forcc to pull a moving plate with velocity 0.2 ni/sec. The

moving plate area is 0.4 m~ and placed 8 mm from the lower fixed plate.

a) What i1s meant by Newton s law of viscosity, discuss the terms of this lasw and indicate the difference

20033 sxy

B L
i jjenhrii F
) Figure (1)
2. ©) Show that, how can produce a large force from applying a small force in a closed hydr

aulic sy stem.

3. aa) Describe how can use the U-tube manocnieter to measure the pressurce at one point.

a
3. b)) Write short notes on:-
- Continuity equation for steacdy one dimensional flow

- Ideal and real fMluid - Bernoulli's egquation
3. ) A Venturi-meter having a diameter of d> = 7.5 cm at the throat is installed in a horizontal pipeline having
a diaunetcr of d; = 15 cm carrying oil of specific gravity 0.9. The difference of pressure head between the inler

= 17.5 cm of mercury. Determine the discharge and velocity through

and ithe throat by U-tube manometer is H =
the thraat. Assume the coefficient of discharge is Ca = 0.97. Know that, the pressure hoad is civen by

0 :
po= rr] Ly ] Y = 13.6. and yr= 1.
>

4. a) Praw a systematic diagram which shows the total energy line for open-channel f1ow.
4. b) Wirite short notes oi: .
- Uniform and non-uniform low - Steady and unsteady flow
- LLaminar and turbulent flow - Subcritical and supercritical flow
4. ©) For a channel shown in Figure (2). Calculate the flow area, wetted perimeter. miean hydraulic radius. Also

find the average flow velocity it the discharge in the channel is 50 m3/sec.
8 >

Figure (2)

4. d) The watler depth over the triangle weir is measured to be <40 cm. Calculate Qth. & Qact. over the weir, take

€ —=60%and cy = 0.6. .
FEFedr rrny Dext wlirisfees
I, Frrzr. 7 VL. EL-Clrobeaxiny:
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Computer fundamental
Finnal 229 Fersmm Exarn
Time Aflowed: 3 HoOowurs
229 year student. - June 8, Z010.

Rarr2Sl ALl Ul V) liXowr 9 Sriolo £ar=ir ca=>/

nswer thHh follo Iy reostions:—

Question # 1
F- . Draw a figurer to shrow the basic components of computer hardware:
A= Wheat do the abbreviations (<[, ber iV ALU, CAD, VISI, DBMS, CAM and
SRAMNM meagn?
c. How many Dbytes and bits in 512 Gigabyte (GB)?

Question # 2

a. EBExplain brierfly the difference between:

i. Computer first generatiorn (JJei/f L.o/l) and computer thyira
generglion <SGy  tfox/l) .

if. Differept types of ROM.

iii. Multitasking olgo/l >ies) and multi-user (WMI S>as2i ).

D, What is & computer network?. What are the main characteristics
Cerrrilca=m/I]) Of data commumnications? :

Question # 3

. Give some examples for :—- (£d9 dliof (snkac/ ) -

i Maip types of plotters.
ii. Maip types of terminals (5. b/ < Lledl ).
7z . ity programns.
iv. Types of networks.
b, List the commnorn features (dsS.icaall SroMall) of applications softfware.

Questiorn # <

F= What is the operating system? List the main tasks («ailke) of an OS.
b. Convert the numbers:;v :
e (735.4)g o ( Jize6 -~ ii. (BF5.25)10t0 ( )z and to BCD.
. - Do thhe operations ;.—
' ii (FD2)16 + (CO9) 5. ii. (2F)16 -~ (4510

G O O D L U CER Dr. Akhmed I. Mahidaly
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FINAT TERMEXAMINATION
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3 Howrs .

Classes

Examiner
a =1, P=1so0o .

1- For the amplifier shown in figure (1),

Determine the following :
1.2 The DC load line , and the Q point.

1.2 The ac load line

Re
1.5 x3

Figure (1)

2-2.1 Prove that the transconductance of JFET is :
Em = mo { 1 — VGs / VGS(oft)}

2.2 The data sheet forxr a certain JFET indicates that IDss = 1S M A

>and Vagsom =-5 V. Determine
‘ Gs = — 1 V -

2.2.T The drain current for
2.2.2 The tramsconductance £,, . given
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Department of clect. technology
Time allowed: 3 hours

BENI SUEF UNIVERSITY

FACULTY OF INDUSTRIAL EDUCATION
Subj.-:LOGIC CIRCUITS | Spec-:2"V7 Electronics & control Technology

Examiner: Prof. Dr. R MOST 4F. 48 Pirof.Dr A. ABWAHAB ] 2Z June 2010
QUESTIONS YOR THE FINAL WRITTEN EXAMINATION
Attempt all guestions  WNWumber of Questions: 4 f Number of Pages: 1 l Maximum Mark: 70

1. (a) YWrite a minterms: Soolean expiession for the truath tabile shown i fig 1
riraw a logic syrmaibol diagrant tnatv will perfor.. (e logic shhovwmn in the
trutihh tabile .Simplify the function.

(b)) Perform the followin%_lhexadecimal operations
i) Z3 D9 H + S4B EKE - ii) 459F H - C731 K

(c) Construct a mod 10 ripple counter using negative edge triggeved J-K flip-

flops.
2. (a) Construct-the truth table of a full adder and show how to construct it using :
i-half adders ii- decoder
< B A Y
(b)) Convert the following :
- - O o o (8]
i- 69B6 IX to binnary O 3 1 1
ii- 1010 (decimal) to binary and hexadecimal o 1 o o
(c) Diraw an AND — OR l(:igic circuit and convert it to L8 x 1 o
INAND represemtation or the following Boolean 1 (0] O (1]
expression 1 o 1 1
Ry — — 1 1 o o |

F =D+ BC+BD+ 4B R p—" o

Figurel

3. (a) Implement the following Boolean function using:
i. a 3-to-8-decoder ii. a 4x1I multiplexer

F(A,B, C) = Zm (1,3,4,7)

(b)) Draw the sSymbol and construct the truth table of = J-¥I Flip-Flop and
-use J-K Flip-Flops to get D-Flip-Flop and T-Flip-Flop

(c) Draw the logic diagram of a mod 8 paralel up counter using: Flip-flops
that trigger on the mnegative transition of the clock.

4. (=aa ) Draw the circuit of 4 bits binary adder-subtractor
( b)) Draw the logic diagram of a 4 bit parallel load shift register
(c ) The state of 12-cell register is 1001 0101 0111.Whuat is its contents if it
represenits three BCD Qigits

ATy A.&&A



